®

ELITECH
A4

Oo6opynoBanue ELITECH

107370, Poccusi, MockBa, OTKpsbITOE 111, 1.12, cTP.35
Ten./ghaxc 745-8888, 745-8937

37



3178.00.00.000 KAC KP3065/50/3T | 380B,50 T | 10 Gap
Karanor geraneit 1 cOOpOUHBIX €TUHUII
Ilo3. Koa. Ne gepreka HaunmeHoBaHue Ko
1. 0702.023400 4042100300 DnexTpoaBurarens, 3,0 kBT 1
2. 0702.015100 3102.00.00.001 Hepxarenb 1
3. 0702.020800 4301100030 Pemenp A1320 1
4. 0702.013400 3125.00.00.104-02 [kus 1
5. 0702.014600 3106.00.00.101 [Mprxum 1
6. 0702.006500 [aii6a 10.65I 1
7. 0702.000500 bontr M8x30 4
8. 0702.000200 boar M10x30 4
9. 0702.001100 [laii6a 10 6
10. 0702.000700 [aiika M10 2
11. 0702.019000 4996111073 [Tpeccocratr MDR3 1
12. 0702.021400 4251100202 Krnanmas npegoxpaHuTeNbHBIN 1
13. 0702.016000 3101.00.00.201 [lepexonHuK 1
14. 0702.023000 4111101000 Kpan 1
15. 0702.022600 4131200100 Perynsarop naBineHus |
16. 0702.015800 3101.00.00.203 3araymka 1
17. 0702.015900 3101.00.00.202 [lepexonHuK 1
18. 0702.022400 4141301600 MaHometp 1
19. 0702.001000 laitka M8 8
20. 0702.001600 aiiba 8 16
21. 0702.021300 4271000103 AmMopTH3aTOp 2
22. 0702.001200 [laiiba 12 4
23. 0702.000100 boar M10x25 2
24. 0702.022100 4150803000 Tpoitauk 1
25. 0702.000900 [aiika M6 1
26. 0702.001300 aiiba 6 1
27. 0702.001400 Llaii6a 6, 65T 1
28. 0702.022700 4121001000 KonmencaTooTBOIUNK 1
29. 0702.021100 4281016000 Koneco 2
30. 0702.015200 3101.00.10.003 [aii6a 2
31. 0702.015300 3101.00.10.002 boar 2
32. 0702.000800 laiika M12 2
33. 0702.011800 3178.00.00.500 Bosnyxonposon 1
34. 0702.021800 4241122102 Kitanan oGpatHbIi 1
35. 0702.001700 aii6a 8, 65T 8
36. 0702.002300 boar M8x35 4
37. 0702.019500 4871401590 [TpoBoxg 1
38. 0702.020200 4381003500 VYkazarenp 1
39. 0702.013600 3125.00.00.103 Jepxarens 1
40. 0702.020400 4350010002 Pacriopka 1
41. 0702.020300 4350020002 3ammenka 4
42. 0702.000300 boar M6x16 5
43. 0702.001500 1aiiba 6x18 5
44. 0702.012800 3127.00.00.200 OcHoBaHue 1
45. 0702.012700 3127.00.00.300 Kpbinika 1
46. 0702.020000 4490000000 TpyOka Rilsan 1
47. 0702.012900 3127.00.00.101-02 ITnarpopma 1
48. 0702.023900 4023430100 biox nopuneBoit TC3065 1
49. 0702.017800 3007.00.00.000-01 Pecusep 1
50. 0702.000100 boar M10x20 1




